
 

https://doi.org/10.25299/jeee.2021.5024
http://journal.uir.ac.id/index.php/JEEE/index
mailto:dedykris.upn@gmail.com


 

 

 



  

 

- 

- 

- 
- 

- 

- 

http://creativecommons.org/licenses/by-sa/4.0/
http://creativecommons.org/licenses/by-sa/4.0/


 

 

- 
- 

- 

- 
- 

 



  

- 

- 

- 𝑤
_

- 

http://creativecommons.org/licenses/by-sa/4.0/
http://creativecommons.org/licenses/by-sa/4.0/


 





𝑤
−

 

𝐸′ =
𝐸

(1 − 𝑣)2

=
1729000

(1 − 0,25)2

 

 

𝑊0 = 9.15
1

(2𝑛′+2)𝑥3.98
𝑛′

(2𝑛′+2)[
1 + 2.14𝑛′

𝑛′ ]
𝑛′

(2𝑛′+2)𝑥𝐾′
1

(2𝑛′+2)[
𝑞𝑖ℎ𝑓

(1−𝑛′)𝑥𝑓

𝐸
]

1

(2𝑛′+2)

= 9.15
1

(2( )+2) × 3.98(2( )+2) [
1 + 2.14( )

]
(2( )+2)

× 0.3515
1

(2( )+2) [
× (1−0.64) × 49.07

3,730,689.141
]

1

(2( )+2)

 𝑤
_

𝑊̅ =
𝜋

5
 𝑊0

𝑊̅ =
𝜋

5
𝑥0.063212135 = 0.039697221 𝑚

 

𝛽 =
2𝐶𝐿√𝜋𝑡

𝑊̅ + 2𝑠𝑃

=
2(0.0001377)√(3.14)(4320)

(0.039697221) + 2(0)



[exp(𝛽2) 𝑒𝑟𝑓𝑐(𝛽)] +
2𝛽

√𝜋
− 1



  

 

𝑥𝑓 =
(𝑤̅ + 2𝑆𝑃)𝑞𝑖

4𝜋ℎ𝑓𝑐
2

𝐿

[exp(𝛽2) 𝑒𝑟𝑓𝑐(𝛽) +
2𝛽

√𝜋
− 1]

(0.039697221 + 2(0))(0.046)

4(3.14)(38.1)(0.0001377)2
(0.383753)



- 

- 

- 𝑤
_

- 

- 

𝑃𝑛𝑒𝑡 = ∆𝑃𝑓 =
𝐸′(𝑤(0))

2hf

=
( )( )

2( )

=

𝑤
−

http://creativecommons.org/licenses/by-sa/4.0/
http://creativecommons.org/licenses/by-sa/4.0/


 

µ𝑜
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